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<LNGF #80 A ffFg > < LPG tya A fflisg >
96,850 (/") X 0.9576 + 106,780 (M/%.)  x 0.0466 = 97,719.508 (M/".)
= 97,720 (H/".) X10MERmEDERA
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<EHRPHERE > < EHEF R FMEAE >
97,720 (H/*.) - 83,350 (F4/*.) = 14,370 (MH/*.)
= 14,300 (A/".) 100K FHEYIET
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< RIS B EE > <HBRE>
14,300 (H/*.) X 0.081 (H/m) + 100 (H/*.) X (1 4+ 010) = 127413 (F/m)
= 1274 (H/m) NINREREIRLUTZEYIET
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<EHEHAHE> <fEEH S Bz EE>
169.03 (F/m) + 1274 (A/m) = 181.77 (A/m)
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<2022 8 A DREEX S HH> <2025 7ADREEFRSHE>
181.77 (A/m) - 178.92 (M/m) = +2.85 (A/m)
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<EXpE> <fERP L B> <AREAE>
1,588.88 (M/A) +  181.77 (A/m) x 31(m/8) = 7,223.75 (A/R)
= 7223 (M/A8) XIARBEYIET
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